NOUNS:

Grm ma Annexure

Nouns in Russian belong to three types of genders, Masculine, Feminine, Neuter. All
nouns, animate or inanimate are classified under the three genders. The gender of the
noun is determined by its ending.

Masculine Feminine Neuter
1. Nouns ending in a Nouns ending in —a Nouns ending in —o
consonant
CTYAEHT YUHTEJbHULA OKHO
Apyr noapyra
2. Nouns ending in -if Nouns ending in —s \-ust Nouns ending in
Anexcéit —e\-ue
repoi ceMbsl noJje
MYy3€i dhamius odme:xxnTHe
3. Nouns ending in -b Nouns ending in -b
CJI0BAPH IO Aaab

Exceptions: Nouns ending in -a \ -s1 but indicating persons of male sex eg.

OEAYIIKA, TSI, TTana

PLURALS OF THE NOUNS:

The plural of nouns: The plural of nouns is obtained by adding -u, -b1 or -a,-s.
Following table explains how plural of nouns is made.

Ending Masculine Feminine
. Noun,s ending i{l a hard consonant Noqns ending’ in -a
CTYIéHT CTYIEHTBI razéra razérpl
. Nouns ending in -if Nouns ending in -5
caHaTOpuii caHaTOpum aymuToOpus  aymMTOpUH
" Nouns ending in a soft sign Nouns ending in a soft sign
noprdens mnoprdenn ABEpb IBEpPH
Nouns ending in Nouns whose stem ends in
T, K, X, K, 4, III, T T, K, X, K, 4, III, I
-H (7 Naughty Consonents) (7 Naughty Consonents)
YPOK ypOKu KHATA KHATH
KAPpaHJAIl KapaHJalu PY4YKa py4KH
Ending | Neuter
-a OKHO - OKHa Nouns ending in -0
-1 noJje - moJs Nouns ending in —e
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" Indeclinable nouns in Russin : )
There are some nouns in Russian Language which are never declined/ changed.
They remain same in plural.

Example: Paamo, merpd, maabro, Kade, kode.

Exceptionh plurh s:

1. with help of -ps
Opat-Oparsbsl,
CTYJI-CTYJIbS,
JINCT-JINCTHA,
JEPEBO-ICPEBDS,

There are some nouns which have irregular plurals. Some of them are as

CBIH-CHIHOBBS.
MYK-MYKbSI,
JPYT-APY3bsi,

follows:

JIOM - JIOMA répon - ropoaa YUYATENb - YIUTENsT  BEUep - Beuepa
PEOEHOK - neTH YEJIOBEK - JTFOIU J0Yb J0YepH

JICHb - JTHA MaTh - MATepH CecTpa CECTpHI

ADJECTIVES:

Adjectives in Russian also have different forms as per the number and gender. They
are as follows:

Masculine Feminine Neuter Plural
-BIA -as -0€ -bIC
HOBBIN HOBast HOBOE HOBEIC
CTApbII cTapas cTapoe CTapble
-oi -ast -0¢ -bIe
royooi royoas royooe royonIe
MOJIOAOM MOJIOAAs MOJIOHOe MOJIOABIC
Uit -as -ee\-oe -ue
XopOummin xopouias xoporiee Xopoume
pycckuit pycckas pycckoe pycckue

KPACHBIi KETTHIN

3eJIEHBII PO30BbBIi royoo0i

KOPWYHEBbIit 0€JIbIi




The Interrogative pronoun kakoéi? (which) In Russian adjectives answer the
questions KakO#, kakas, kakoe, kakue. The pronoun kakoii agrees with the noun to

which it belongs in gender, number and case.

Kakas y Te0st kOMHara? VY MeHst xoporias KOMHara.
Kaxoii 3to mom? 9710 OOJIBIION JOM.
Kaxkoe 3to 31aH1e? 9TO BBICOKOE 3/IAHUE.
Kakrie 31o kuiru? 3TO0 CTapbie KHUTH.
VERBS :

In Russian language verbs are conjugated in the present tense. It means they have
forms that vary on the basis of person,n umber a d g nder.

There are two types of conjugation patterns in general.
The first pattern is called e - Conjugation.
In this type, a verb takes the endings -1o(y), -eliib, -€T,-eM,-€Te,-I0T.

Most of the verbs which end in -ate are conjugated in this manner.

Study the following table to understand how a verb takes different forms
according to different personal pronoun.

e- Conjugation

Example : yntarp

~

sing In Ending
s YUTa- 10 -0

Thl YHUTA- CIIb -eIlb
OH/OHA/OHO YHTA- €T -eT
Plurh Ending
MBI YUTA- €M -eM

BbI YUTA- €TC -eTe
OHH YHUTAa- IOT -I0T

Verbs such as pénarp, ciaymarb, CIPAIIMBAThb, OTABIXATh, IOHUMATDH, 3HATh,
MOBTOPSITh, HAYMHATH etc are conjugated in the same manner as the verb uurars.

u- Conjugation

In this type, a verb takes the ending -10 (y), -uus, -ut, -UM- -ute, -4t (ar)

Most of the verbs which end in -uth are conjugated in this manner. The verbs
ending in -atb preceded by x, m, 4, 1 which drop -a in the present tense and the
verb cTosATh are also conjugated in this manner.
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Example: roBopursb

Sing In Ending
S roBop - 10 -10

ThI TOBOP - NIIb -M11Ib
OH/OHA&/0HO TOBOD - UT -HT
Plurh Ending
MBI TOBOD - UM -UM

Bbl roBop - Hite -UTE
OHH TOBOD - AT -SIT

Verbs such as jexaTs, cMOTPETH, CHAETH, THOOUTH, BIAETH etc are conjugated in
this manner. Sometimes the consonant undergoes a change, like m - x in case of
BHAJIETH, CUIETH or a consonant is added, like -1 in case of roTOBUTE, TIOOUTE.

CASES

1. Nouns, when answering the question HTO? KTO? are said to be in NOMINITIVE
CASE. Nominitive case is the original form of the noun. When nouns are used in a
sentence, they play a role of direct or indirect object and express various relations with
the other components of a sentence. In order to express these numerous links with
other words, nouns a e declined a d used in ® ious ca es. Some of the cases are as
follows:

2 P repositionh ca e of nouns.

Russian nouns are declined i.e. they take different case endings depending on their
function in the sentence.

The prepositional case denotes place. It answers the question rae? and it is used
with the prepositions B ( in) and Ha (on).

In prepositional case nouns end in following manner.

-@=

. . . . Nouns ending in -a, -1.
KOMHaTa--- B KOMHaTe JepEBHS -- B IEPEBHE

Masculine nouns ending in

KJIaCcC -- B KJIACCE, CJIOBAPH -- B CIIOBAPE "
’ p P hard or soft consonant or -ii.

CIIOBO -- B CIOBE, MOJIE -- B IIOJIE Neuter nouns ending in -o,-€.
-U- Feminine nouns ending in a soft
TETPAJb -- B TETPAIU consonant.

caHaTtOpuil -- B caHaTOPUU

ayIuTOPHS -- B ayTUTOPUH Nouns ending in -uii, -us, -ue
OOIIIEKUTHE -- B OOIIEKUTUH

The prepositional case with the prepositions o and 00 is used after the verbs of
thought or speech such as : gymarb, TOMHUTH, BCIOMUHATD, 3a0BIBATH, MEUTATH

YUTATh, 3HATH etc. It is used to answer the questions 0 kom? 0 uém?
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The preposition o is used before the words beginning with a consonant and 06 before\
the words beginning with the vowels a, o, y, u, 5.

The prepositional case also answers the questions :

O xom? about/ of whom ? - - for animate beings.
O uém? about/ of what ? - - for animate beings.
B uém? in what ? - - for inanimate beings.
Ha uém? on what ? - - for inanimate beings.

Personal pronouns in prepositional

s 000 MHE

THI 0 Tebe

OH 0 HEM

OHA 0 Hew

OHO 0 HEM

MBI 0 Hac

BbI 0 Bac

OHU 0 HHUX
Exm ples :
O KOM rOBOPHUT CTYIAEHT? CtynéHt roBopHUT 0 Opare.
O uém pymaer ctyaéHt? CrynéHt aymaet o poiuHe

3 Accush i ca e of nouns.
The accusative without a preposition is used to denote the direct object of a transitive
verb. : YUTATh, NUCATH, CJAYIIATD, 1€J1aTh etC.

The object in the accusative answers the question :

xor6 ? (whom) for animate beings and uto ? (what) for inanimate objects.

Exm ple :
UYTto ThI UMTACIIH ? S yutéro KHATY.
Koro Tb1 BUIUTIIE? S Buky Opara.
The ending of sing la nouns in accush i¥ ca e:
-y
Nouns ending in - a KHATA -- KHUTY
CTYICHTKA -- CTYICHTKY
- 10
Nouns ending in -1, - us JCPEBHS - ICPEBHIO
ayTUTOPHS - ayTUTOPHUIO
Masculine nouns ending in a hard 4 ,
consonant and denoting animate objects. CTYACHT - CTyAICHTA
Opar - 6para
Masculine nouns ending in a soft - » TPEHoAaBaTelb - MPEMNOJABATEIS
consonant and denoting animate being YIUTENb - yIATCIIS
J
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Note: Masculine nouns denoting inanimate objects and neuter gender nouns have
the same accusative case form as in Nominitie ca e.

4 G enitie Ca e:

The Genitive case indicates possession or ownership. It answers the questions
yei? , ups?, uné?, ubnu? (whose).
In genitive case nouns end in following manner:

Nouns ending in -a KOMHATa -- KOMHAaThI

Nouns ending in -1, -us. JepEBHS -- AICPEBHH,
ayIuTOpHUs -- AyIUTOPHUH,

Nouns ending in -a with the stem ending

; KHATA -- KHUTH
1N T,K,X,K, I, 9,111

Masculine nouns ending in a hard CTYACHT -- CTyACHTA, CTOJ -- CTOJIA,
consonant; neuter nouns ending in -0 OKHO -- OKHA

Masculine nouns ending in a soft CIIOBAPBH -- CIOBapsl, MOJE -- MO,
consonant, masculine nouns ending in - i | My3¢i--My3¢es

neuter ending in -e, -ue YOPaKHEHUE -- YIPAKHEHUS

The genitive case answers the questions:
(y) xoro --for animate beings.

(y)uer6 -- for inanimate objects.

The genitive case with the preposition "y" in the construction means ...

"V MeHs ecTb....." I have ......

Y MeHS €CTh CIIOBAPD. I have a dictionary.

VY cTyaéHTa ecTh CIIOBAPE. The student has a dictionary.

Y MeHs B KOMHATe CTOUT mKad. There is a cupboard in my room.

The genitive case after' Her" gives the meaning in English
"there is no.... or he ( she, etc) is not ( somewhere).

Compare the following examples and understand the use of genitive in negative
construction. B unctutyte ects 6ubauoréka. There is a library in the institute.

B unctuTyTe Het OMOIMOTéKkH. There is no libra y n the institute. Ha ypoke Het
Acnma Aseem is not there for lecture.
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